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Inverting
1)
voltage switch
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      +

Vout = -A*Vin

(usually =power supply  max=  -15 V)

2)
basic inverting
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Vout = -Vin *Rf /R



3)
voltage inverter (basic inverting w/ R=Rf)
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Vout = -Vin



4)
Current (I) adder
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Note:
If I1, I2, I3 ...  are input from a

        Vin
       I2


      -






common voltage source, Vin



     


      +

Vout =  -
Rf(I1 + I2 + I3 + ...)
             e.g. through a parallel set of

  
       I3









resistors R1, R2, R3 then:











Vout = -RfVin(1/R1 + 1/R2 + 1/R3 +...)

5)
Voltage (V) adder
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      +

Vout =  -
Rf *(V1 + V2 + V3 + ...)
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6)
Integrator  (area under voltage curve vs time)
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      +

Vout = -(1/RC)*( Vin dt

7)
Differentiator (slope of voltage curve vs time)
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Vout = -RC*dVin/dt

op amps summary (continued)
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Non-Inverting
1)
Voltage follower
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Vout =   +  R Vin  = +Vin
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2)
constant I source
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Vin
      +

Vout =
Vin/R=constant I
  (independent of Load)
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